



## On Certain Subclasses of Multivalent Functions with Varying Arguments of Coefficients

Shigeyoshi Owa, Mohamed K. Aouf and Hanaa M. Zayed

ABSTRACT: In this paper we introduce and study the classes  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  and  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$  of multivalent functions with varying arguments of coefficients. We obtain coefficients inequalities, distortion theorems and extreme points for functions in these classes. Also, we investigate several distortion inequalities involving fractional calculus. Finally, results on partial sums are considered.

Key Words: Analytic, Multivalent functions, Hadamard product, Fractional integral and fractional derivative operators, Varying arguments.

### Contents

<b>1 Introduction</b>	<b>1</b>
<b>2 Coefficient estimates</b>	<b>4</b>
<b>3 Distortion theorems</b>	<b>6</b>
<b>4 Extreme points</b>	<b>7</b>
<b>5 Applications of Fractional Calculus</b>	<b>8</b>
<b>6 Partial sums</b>	<b>11</b>

### 1. Introduction

Let  $\mathcal{A}(p)$  denote the class of functions of the form:

$$f(z) = z^p + \sum_{n=1}^{\infty} a_{p+n} z^{p+n} \quad (p \in \mathbb{N} = \{1, 2, \dots\}), \quad (1.1)$$

which are analytic and multivalent in the open unit disc  $\mathbb{U} = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$ . We note that  $\mathcal{A}(1) = \mathcal{A}$ .

We recall some definitions which will be used in our paper.

**Definition 1.1.** [1]. (i) A function  $f(z)$  of the form (1.1) is said to be in the class of  $\beta$ -uniformly multivalent starlike functions, denoted by  $\mathcal{UST}_p(\alpha, \beta)$ , if it satisfies the following condition:

$$\Re \left\{ \frac{zf'(z)}{f(z)} - \alpha \right\} > \beta \left| \frac{zf'(z)}{f(z)} - p \right| \quad (0 \leq \alpha < p; \beta \geq 0; z \in \mathbb{U}).$$

(ii) A function  $f(z)$  of the form (1.1) is said to be in the class of  $\beta$ -uniformly multivalent convex functions, denoted by  $\mathcal{UCV}_p(\alpha, \beta)$ , if it satisfies the following condition:

$$\Re \left\{ 1 + \frac{zf''(z)}{f'(z)} - \alpha \right\} > \beta \left| 1 + \frac{zf''(z)}{f'(z)} - p \right| \quad (0 \leq \alpha < p; \beta \geq 0; z \in \mathbb{U}).$$

2010 Mathematics Subject Classification: 30C45.

Submitted July 19, 2018. Published March 08, 2019

Many essentially equivalent definitions of fractional calculus (that is, fractional derivatives and fractional integrals) have been given in the literature (cf., e.g. [2], [3], [5], [6], [7], [15], [16] and [18]). We find it to be convenient to recall here the following definitions which were used recently by Owa [8] and by Srivastava and Owa [17].

**Definition 1.2.** *The fractional integral of order  $\lambda$  is defined, for a function  $f(z)$ , by*

$$D_z^{-\lambda} f(z) = \frac{1}{\Gamma(\lambda)} \int_0^z \frac{f(\zeta)}{(z-\zeta)^{1-\lambda}} d\zeta \quad (\lambda > 0),$$

where  $f(z)$  is an analytic function in a simply-connected region of the complex  $z$ -plane containing the origin and the multiplicity of  $(z-\zeta)^{\lambda-1}$  is removed by requiring  $\log(z-\zeta)$  to be real when  $z-\zeta > 0$ .

**Definition 1.3.** *The fractional derivative of order  $\lambda$  is defined, for a function  $f(z)$ , by*

$$D_z^\lambda f(z) = \frac{1}{\Gamma(1-\lambda)} \frac{d}{dz} \int_0^z \frac{f(\zeta)}{(z-\zeta)^\lambda} d\zeta \quad (0 \leq \lambda < 1),$$

where  $f(z)$  is an analytic function in a simply-connected region of the complex  $z$ -plane containing the origin and the multiplicity of  $(z-t)^{-\lambda}$  is removed by requiring  $\log(z-\zeta)$  to be real when  $z-\zeta > 0$ .

**Definition 1.4.** *Under the hypotheses of Definition 1.3, the fractional derivative of order  $n+\lambda$  is defined by*

$$D_z^{k+\lambda} f(z) = \frac{d^k}{dz^k} D_z^\lambda f(z) \quad (0 \leq \lambda < 1; k \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}).$$

In this paper, we define the following subclass of  $\mathcal{A}(p)$

**Definition 1.5.** *A function  $f(z) \in \mathcal{A}(p)$  is said to be in the class  $\mathcal{M}_p(\lambda, \alpha, \beta)$  if*

$$\Re \left\{ \frac{\Psi_z^{(\lambda, p)}}{f(z)} - \alpha \right\} > \beta \left| \frac{\Psi_z^{(\lambda, p)}}{f(z)} - p \right| \quad (0 \leq \alpha < p; \beta \geq 0; 0 \leq \lambda < 1; z \in \mathbb{U}), \quad (1.2)$$

where

$$\Psi_z^{(\lambda, p)} = \frac{\Gamma(p-\lambda+1)}{\Gamma(p)} z^\lambda D_z^\lambda f(z). \quad (1.3)$$

Also, a function  $f(z) \in \mathcal{A}(p)$  is said to be in the class  $\mathcal{N}_p(\lambda, \alpha, \beta)$  if and only if

$$\frac{\Gamma(p-\lambda+1)}{\Gamma(p+1)} z^\lambda D_z^\lambda f(z) \in \mathcal{M}_p(\lambda, \alpha, \beta).$$

We note that:

- (i)  $\mathcal{M}_1(\lambda, \alpha, 0) = \mathcal{S}_\lambda^*(\alpha)$  and  $\mathcal{N}_1(\lambda, \alpha, 0) = \mathcal{K}_\lambda(\alpha)$  (see Owa [9]);
- (ii)  $\mathcal{M}_p(1, \alpha, \beta) = \mathcal{UST}_p(\alpha, \beta)$  and  $\mathcal{VN}_p(1, \alpha, \beta) = \mathcal{UCV}_p(\alpha, \beta)$  (see Al-Kharsani [1]).

Also, we note that:

$$\mathcal{M}_1(\lambda, \alpha, \beta) = \mathcal{M}(\lambda, \alpha, \beta) = \left\{ f(z) \in \mathcal{A} : \Re \left( \frac{\Gamma(2-\lambda)z^\lambda D_z^\lambda f(z)}{f(z)} - \alpha \right) > \beta \left| \frac{\Gamma(2-\lambda)z^\lambda D_z^\lambda f(z)}{f(z)} - 1 \right| \right\};$$

$$\text{and } \mathcal{N}_1(\lambda, \alpha, \beta) = \mathcal{N}(\lambda, \alpha, \beta) = \{ f(z) \in \mathcal{A} : \Gamma(2-\lambda)z^\lambda D_z^\lambda f(z) \in \mathcal{M}(\lambda, \alpha, \beta) \}.$$

In [12], Silverman introduced and studied the univalent functions with varying arguments, as follows:

**Definition 1.6.** [12]. We say that a function  $f(z)$  of the form  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$  is in the class  $\mathcal{V}(\theta_n)$  if  $f(z) \in \mathcal{S}$  (the class of analytic and univalent functions in  $\mathbb{U}$ ) and  $\arg(a_n) = \theta_n$  for all  $n$  ( $n \geq 2$ ). Further, if there exists a real number  $\eta$  such that

$$\theta_n + (n-1)\eta \equiv \pi \pmod{2\pi},$$

then  $f(z)$  is said to be in the class  $\mathcal{V}(\theta_n, \eta)$ . The union of  $\mathcal{V}(\theta_n, \eta)$  taken over all possible sequences  $\{\theta_n\}$  and all possible real numbers  $\eta$  is denoted by  $\mathcal{V}$ .

Silverman [12] used the concept of varying arguments of the coefficients to introduce and study the class  $\mathcal{V}^*(\alpha)$ , which is a subclass of  $\mathcal{V}$  consisting of starlike functions of order  $\alpha$ . For  $\eta = 0$ , we obtain the class  $\mathcal{T}_n$  consisting of functions  $f(z)$  with negative coefficients.

In [4], Aouf et al. introduced a subclass of multivalent functions with varying arguments of coefficients as follows.

**Definition 1.7.** [4]. We say that a function  $f(z)$  of the form (1.1) is in the class  $\mathcal{V}_p(\theta_{p+n})$  if  $f(z) \in \mathcal{A}(p)$  and  $\arg(a_{p+n}) = \theta_{p+n}$  for all  $n$  ( $n \geq 1$ ). Further, if there exists a real number  $\eta$  such that

$$\theta_{p+n} + n\eta \equiv \pi \pmod{2\pi},$$

then  $f(z)$  is said to be in the class  $\mathcal{V}_p(\theta_{p+n}, \eta)$ . The union of  $\mathcal{V}_p(\theta_{p+n}, \eta)$  taken over all possible sequences  $\{\theta_{p+n}\}$  and all possible real numbers  $\eta$  is denoted by  $\mathcal{V}_p$ .

Let  $\mathcal{VUS}\mathcal{T}_p(\alpha, \beta)$  denote the subclass of  $\mathcal{V}_p$  consisting of functions  $f(z) \in \mathcal{US}\mathcal{T}_p(\alpha, \beta)$  and  $\mathcal{VUC}\mathcal{V}_p(\alpha, \beta)$  denote the subclass of  $\mathcal{V}_p$  consisting of functions  $f(z) \in \mathcal{UC}\mathcal{V}_p(\alpha, \beta)$  which are the subclasses of multivalent uniformly starlike functions with varying arguments of coefficients and multivalent uniformly convex functions with varying arguments, respectively.

Using the concept of varying arguments in multivalent functions, we introduce the following subclasses.

**Definition 1.8.** Let  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  denote the subclass of  $\mathcal{V}_p$  consisting of functions  $f(z) \in \mathcal{M}_p(\lambda, \alpha, \beta)$  and  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$  denote the subclass of  $\mathcal{V}_p$  consisting of functions  $f(z) \in \mathcal{N}_p(\lambda, \alpha, \beta)$ .

We note that:

- (i)  $\mathcal{VM}_{p,\eta}(1, \alpha, 0) = \mathcal{V}_p(\alpha)$  and  $\mathcal{VN}_{p,\eta}(1, \alpha, 0) = \overline{\mathcal{V}_p(\alpha)}$  (see Aouf et al. [4]);
- (ii)  $\mathcal{VM}_{p,0}(1, \alpha, 0) = \mathcal{T}^*(p, \alpha)$  and  $\mathcal{VN}_{p,0}(1, \alpha, 0) = \mathcal{C}(p, \alpha)$  (see Owa [10]);
- (iii)  $\mathcal{VM}_{p,0}(1, \alpha, \beta) = \mathcal{US}\mathcal{T}_p(\alpha, \beta)$  and  $\mathcal{VN}_{p,0}(1, \alpha, \beta) = \mathcal{UC}\mathcal{V}_p(\alpha, \beta)$  (see Al-Kharsani [1]);
- (iv)  $\mathcal{VM}_{1,\eta}(\lambda, \alpha, 0) = \mathcal{V}_\lambda^*(\alpha)$  and  $\mathcal{VN}_{1,\eta}(\lambda, \alpha, 0) = \mathcal{W}_\lambda^*(\alpha)$  (see Owa [9]);
- (v)  $\mathcal{VM}_{1,\eta}(1, \alpha, 0) = \mathcal{V}^*(\alpha)$  and  $\mathcal{VN}_{1,\eta}(1, \alpha, 0) = \mathcal{VK}(\alpha)$  (see Silverman [12]);
- (vi)  $\mathcal{VM}_{1,0}(1, \alpha, 0) = \mathcal{T}^*(\alpha)$  and  $\mathcal{VM}_{1,0}(1, \alpha, 0) = \mathcal{K}(\alpha)$  (see Silverman [13]).

Also, we note that:

$$\mathcal{VM}_1(\lambda, \alpha, \beta) = \mathcal{VM}(\lambda, \alpha, \beta) =$$

$$\left\{ f(z) \in \mathcal{V} : \Re \left( \frac{\Gamma(2-\lambda)z^\lambda D_z^\lambda f(z)}{f(z)} - \alpha \right) > \beta \left| \frac{\Gamma(2-\lambda)z^\lambda D_z^\lambda f(z)}{f(z)} - 1 \right| \right\};$$

$$\text{and } \mathcal{VN}_1(\lambda, \alpha, \beta) = \mathcal{VN}(\lambda, \alpha, \beta) = \{ f(z) \in \mathcal{V} : \Gamma(2-\lambda)z^\lambda D_z^\lambda f(z) \in \mathcal{VM}_p(\lambda, \alpha, \beta) \}.$$

## 2. Coefficient estimates

Unless otherwise mentioned, we assume throughout this paper that

$$0 \leq \alpha < p, \beta \geq 0, 0 \leq \lambda < 1, p \in \mathbb{N}, z \in \mathbb{U} \text{ and } \phi_{p,n}^\lambda = \frac{\Gamma(p+n+1)\Gamma(p-\lambda+1)}{\Gamma(p+n-\lambda+1)\Gamma(p)} \quad (n \in \mathbb{N}).$$

**Theorem 2.1.** *Let  $f(z)$  be given by (1.1). Then  $f(z) \in \mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  if and only if*

$$\sum_{n=1}^{\infty} \left[ (1 + \beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right] |a_{p+n}| \leq p - \alpha. \quad (2.1)$$

*Proof.* Assume that the condition (2.1) holds, then it is sufficient to show the inequality (1.2) holds. Hence, it suffices to show that

$$\beta \left| \frac{\Psi_z^{(\lambda,p)}}{f(z)} - p \right| - \Re \left\{ \frac{\Psi_z^{(\lambda,p)}}{f(z)} - p \right\} < p - \alpha,$$

where  $\Psi_z^{(\lambda,p)}$  is defined by (1.3). Thus

$$\begin{aligned} \beta \left| \frac{\Psi_z^{(\lambda,p)}}{f(z)} - p \right| - \Re \left\{ \frac{\Psi_z^{(\lambda,p)}}{f(z)} - p \right\} &\leq (1 + \beta) \left| \frac{\Psi_z^{(\lambda,p)}}{f(z)} - p \right| \\ &\leq \frac{(1 + \beta) \sum_{n=1}^{\infty} [\phi_{p,n}^\lambda - p] |a_{p+n}|}{1 - \sum_{n=1}^{\infty} |a_{p+n}|}. \end{aligned}$$

This last expression is bounded above by  $(p - \alpha)$  if (2.1) holds. Conversely, assume that

$$\Re \left\{ \frac{\Psi_z^{(\lambda,p)}}{f(z)} - \alpha \right\} > \beta \left| \frac{\Psi_z^{(\lambda,p)}}{f(z)} - p \right|,$$

or, equivalently

$$\Re \left\{ \frac{(p - \alpha) + \sum_{n=1}^{\infty} [\phi_{p,n}^\lambda - \alpha] a_{p+n} z^n}{1 + \sum_{n=1}^{\infty} a_{p+n} z^n} \right\} > \beta \left| \frac{\sum_{n=1}^{\infty} [\phi_{p,n}^\lambda - p] a_{p+n} z^n}{1 + \sum_{n=1}^{\infty} a_{p+n} z^n} \right|.$$

Since  $f(z) \in \mathcal{V}_p$ , then  $f(z) \in \mathcal{V}_p(\theta_{p+n}, \eta)$  for some sequence  $\{\theta_{p+n}\}$  and a real numbers  $\eta$  such that

$$\theta_{p+n} + n\eta \equiv \pi \pmod{2\pi}.$$

Let  $z = re^{i\eta}$ , we have

$$\left( \frac{(p - \alpha) + \sum_{n=1}^{\infty} [\phi_{p,n}^\lambda - \alpha] |a_{p+n}| e^{i[\theta_{p+n} + n\eta]} r^n}{1 + \sum_{n=1}^{\infty} |a_{p+n}| e^{i[\theta_{p+n} + n\eta]} r^n} \right) > \left( \frac{\beta \sum_{n=1}^{\infty} [\phi_{p,n}^\lambda - p] |a_{p+n}| e^{i[\theta_{p+n} + n\eta]} r^n}{1 + \sum_{n=1}^{\infty} |a_{p+n}| e^{i[\theta_{p+n} + n\eta]} r^n} \right).$$

Letting  $r \rightarrow 1^-$ , we obtain the required result and hence the proof of the inequality (2.1) is completed. Further, we consider a function  $f(z)$  given by

$$f(z) = z^p + \sum_{n=1}^{\infty} \frac{(p - \alpha) e^{i\theta_{p+n}}}{n(n+1) [(1 + \beta)\phi_{p,n}^\lambda - (p\beta + \alpha)]} z^{p+n}.$$

Then, writing

$$a_{p+n} = \frac{(p-\alpha)e^{i\theta_{p+n}}}{n(n+1)\left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right]} \quad (n \in \mathbb{N}).$$

We have

$$\sum_{n=1}^{\infty} \left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right] |a_{p+n}| = \sum_{n=1}^{\infty} \frac{p-\alpha}{n(n+1)} = p-\alpha.$$

Therefore,  $f(z) \in \mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  satisfies the equality in (2.1).  $\square$

**Corollary 2.2.** *Let  $f(z)$  defined by (1.1) be in the class  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$ . Then*

$$|a_{p+n}| \leq \frac{(p-\alpha)}{\left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right]}.$$

The result is sharp for the function

$$f(z) = z^p + \frac{(p-\alpha)e^{i\theta_{p+n}}}{\left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right]} z^{p+n}.$$

**Theorem 2.3.** *Let  $f(z)$  be given by (1.1). Then  $f(z) \in \mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$  if and only if*

$$\sum_{n=1}^{\infty} \phi_{p,n}^\lambda \left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right] |a_{p+n}| \leq p(p-\alpha). \quad (2.2)$$

*Proof.* Since  $f(z) \in \mathcal{VN}_p(\lambda, \alpha, \beta)$  if and only if

$$\frac{\Gamma(p-\lambda+1)}{\Gamma(p+1)} z^\lambda D_z^\lambda f(z) \in \mathcal{VM}_p(\lambda, \alpha, \beta).$$

It follows that  $f(z) \in \mathcal{VN}_p(\lambda, \alpha, \beta)$  if and only if (2.2) holds. Moreover, the equality in (2.2) holds true for

$$f(z) = z^p + \sum_{n=1}^{\infty} \frac{p(p-\alpha)e^{i\theta_{p+n}}}{n(n+1)\phi_{p,n}^\lambda \left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right]} z^{p+n}.$$

This completes the proof of Theorem 2.3.  $\square$

**Corollary 2.4.** *Let  $f(z)$  defined by (1.1) be in the class  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$ . Then*

$$|a_{p+n}| \leq \frac{p(p-\alpha)}{\phi_{p,n}^\lambda \left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right]}.$$

The result is sharp for the function

$$f(z) = z^p + \frac{p(p-\alpha)}{\phi_{p,n}^\lambda \left[(1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha)\right]} e^{i\theta_{p+n}} z^{p+n}.$$

### 3. Distortion theorems

**Theorem 3.1.** *Let  $f(z)$  defined by (1.1) be in the class  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$ , then for  $z \in \mathbb{U}$ , we have*

$$\begin{aligned} |z|^p - \frac{(p-\alpha)}{\left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right]} |z|^{p+1} \\ \leq |f(z)| \leq \\ |z|^p + \frac{(p-\alpha)}{\left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right]} |z|^{p+1}. \end{aligned} \quad (3.1)$$

The result is sharp for the function  $f(z)$  given by

$$f(z) = z^p + \frac{(p-\alpha)e^{i\theta_{p+1}}}{\left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right]} z^{p+1}. \quad (3.2)$$

*Proof.* It is easy to see from Theorem 2.1 that

$$\left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right] \sum_{n=1}^{\infty} |a_{p+n}| \leq \sum_{n=1}^{\infty} \left[(1+\beta)\phi_{p,n}^\lambda - (p\beta+\alpha)\right] |a_{p+n}| \leq p-\alpha,$$

because  $\phi_{p,n}^\lambda < \phi_{p,n+1}^\lambda$  for  $n \geq 1$ . This gives us that

$$\sum_{n=1}^{\infty} |a_{p+n}| \leq \frac{(p-\alpha)}{\left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right]}. \quad (3.3)$$

Making use of (3.3), we have

$$\begin{aligned} |f(z)| &\geq |z|^p - \sum_{n=1}^{\infty} |a_{p+n}| |z|^{p+1} \\ &\geq |z|^p - \frac{(p-\alpha)}{\left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right]} |z|^{p+1}, \end{aligned}$$

and

$$\begin{aligned} |f(z)| &\leq |z|^p + \sum_{n=1}^{\infty} |a_{p+n}| |z|^{p+1} \\ &\leq |z|^p + \frac{(p-\alpha)}{\left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right]} |z|^{p+1}, \end{aligned}$$

which proves the assertion (3.1). Since the equality in (3.1) is satisfied by  $f(z)$  given by (3.2), the proof is thus completed.  $\square$

Using similar arguments to those in the proof of the Theorem 3.1, we obtain the following theorem.

**Theorem 3.2.** *Let  $f(z)$  defined by (1.1) be in the class  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$ , then for  $z \in \mathbb{U}$ , we have*

$$\begin{aligned} |z|^p - \frac{p(p-\alpha)}{\phi_{p,1}^\lambda \left[(1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha)\right]} |z|^{p+1} \\ \leq |f(z)| \leq \end{aligned}$$

$$|z|^p + \frac{p(p-\alpha)}{\phi_{p,1}^\lambda \left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta + \alpha) \right]} |z|^{p+1}.$$

The result is sharp for the function  $f(z)$  given by

$$f(z) = z^p + \frac{p(p-\alpha)e^{i\theta_{p+1}}}{\phi_{p,1}^\lambda \left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta + \alpha) \right]} z^{p+1}.$$

#### 4. Extreme points

**Theorem 4.1.** Let  $f(z)$  defined by (1.1) belongs to the class  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  with  $\arg(a_{p+n}) = \theta_{p+n}$  and  $\theta_{p+n} + n\eta \equiv \pi \pmod{2\pi}$  for all  $n$ . Also, let  $f_p(z) = z^p$  and

$$f_{p+n}(z) = z^p + \frac{(p-\alpha)e^{i\theta_{p+n}}}{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right]} z^{p+n}.$$

Then  $f(z)$  is in the class  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  if and only if can be expressed in the form

$$f(z) = \sum_{n=0}^{\infty} \mu_{p+n} f_{p+n}(z),$$

where  $\mu_{p+n} \geq 0$  and  $\sum_{n=0}^{\infty} \mu_{p+n} = 1$ .

*Proof.* Assume that

$$\begin{aligned} f(z) &= \sum_{n=0}^{\infty} \mu_{p+n} f_{p+n}(z) \\ &= z^p + \sum_{n=1}^{\infty} \frac{(p-\alpha)e^{i\theta_{p+n}} \mu_{p+n}}{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right]} z^{p+n}. \end{aligned} \quad (4.1)$$

Then it follows that

$$\sum_{n=1}^{\infty} \frac{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right]}{(p-\alpha)} \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right]} \mu_{p+n} = \sum_{n=1}^{\infty} \mu_{p+n} = 1 - \mu_p \leq 1,$$

which implies that  $f(z) \in \mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$ . Conversely, assume that the function  $f(z)$  defined by (1.1) be in the class  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$ . Then Corollary 2.2 gives that

$$|a_{p+n}| \leq \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right]} \quad (n \in \mathbb{N}).$$

Defining  $\mu_{p+n}$  by

$$\mu_{p+n} = \frac{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right] |a_{p+n}|}{(p-\alpha)} \quad (n \in \mathbb{N}),$$

and

$$\mu_p = 1 - \sum_{n=1}^{\infty} \mu_{p+n},$$

we write

$$a_{p+n} = \frac{(p-\alpha)\mu_{p+n}e^{i\theta_{p+n}}}{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right]} \quad (n \in \mathbb{N}).$$

This shows that

$$\begin{aligned}
f(z) &= z^p + \sum_{n=1}^{\infty} a_{p+n} z^{p+n} \\
&= \left( \sum_{n=0}^{\infty} \mu_{p+n} \right) z^p + \sum_{n=1}^{\infty} \frac{(p-\alpha)e^{i\theta_{p+n}}}{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta+\alpha) \right]} \mu_{p+n} z^{p+n} \\
&= \sum_{n=0}^{\infty} \mu_{p+n} f_{p+n}(z).
\end{aligned}$$

This completes the proof of Theorem 4.1. □

By using similar arguments and analysis to those in the proof of Theorem 4.1, we can derive the following theorem.

**Theorem 4.2.** *Let  $f(z)$  defined by (1.1) belongs to the class  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$  with  $\arg(a_{p+n}) = \theta_{p+n}$  and  $\theta_{p+n} + n\eta \equiv \pi \pmod{2\pi}$  for all  $n$ . Also, let  $f_p(z) = z^p$  and*

$$f_{p+n}(z) = z^p + \frac{p(p-\alpha)e^{i\theta_{p+n}}}{\phi_{p,n}^\lambda \left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta+\alpha) \right]} z^{p+n}.$$

Then  $f(z)$  is in the class  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$  if and only if can be expressed in the form

$$f(z) = \sum_{n=0}^{\infty} \mu_{p+n} f_{p+n}(z),$$

where  $\mu_{p+n} \geq 0$  and  $\sum_{n=0}^{\infty} \mu_{p+n} = 1$ .

## 5. Applications of Fractional Calculus

**Theorem 5.1.** *Let  $f(z)$  defined by (1.1) be in the class  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$ . Then we have*

$$|D_z^{-\lambda} f(z)| \leq \frac{\Gamma(p+1)}{\Gamma(p+\lambda+1)} |z|^{p+\lambda} \left\{ 1 + \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha) \right]} |z| \right\}, \quad (5.1)$$

and

$$|D_z^{-\lambda} f(z)| \geq \frac{\Gamma(p+1)}{\Gamma(p+\lambda+1)} |z|^{p+\lambda} \left\{ 1 - \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha) \right]} |z| \right\}, \quad (5.2)$$

for  $\lambda > 0$  and  $z \in \mathbb{U}$ . Further

$$|D_z^\lambda f(z)| \leq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} |z|^{p-\lambda} \left\{ 1 + \frac{(p+1)(p-\alpha)}{p[(p+1)(1+\beta) - (p\beta+\alpha)(p+1-\lambda)]} |z| \right\}, \quad (5.3)$$

and

$$|D_z^\lambda f(z)| \geq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} |z|^{p-\lambda} \left\{ 1 - \frac{(p+1)(p-\alpha)}{p[(p+1)(1+\beta) - (p\beta+\alpha)(p+1-\lambda)]} |z| \right\}, \quad (5.4)$$

for  $0 \leq \lambda < 1$  and  $z \in \mathbb{U}$ . The result is sharp.



*Proof.* Let

$$\begin{aligned} F(z) &= \frac{\Gamma(p+\lambda+1)}{\Gamma(p+1)} z^{-\lambda} D_z^{-\lambda} f(z) \\ &= z^p + \sum_{n=1}^{\infty} \frac{\Gamma(p+n+1)\Gamma(p+\lambda+1)}{\Gamma(p+1)\Gamma(p+n+\lambda+1)} a_{p+n} z^{p+n}. \end{aligned}$$

Then

$$F(z) = z^p + \sum_{n=1}^{\infty} \Omega_{p,n}^{\lambda} a_{p+n} z^{p+n},$$

where

$$\Omega_{p,n}^{\lambda} = \frac{\Gamma(p+n+1)\Gamma(p+\lambda+1)}{\Gamma(p+1)\Gamma(p+n+\lambda+1)} \quad (\lambda > 0).$$

We see that

$$0 < \Omega_{p,n}^{\lambda} \leq \frac{p+1}{p+\lambda+1}.$$

Then

$$\begin{aligned} |F(z)| &\leq \left| z^p + \sum_{n=1}^{\infty} \Omega_{p,n}^{\lambda} a_{p+n} z^{p+n} \right| \\ &\leq |z|^p + \sum_{n=1}^{\infty} \Omega_{p,n}^{\lambda} |a_{p+n}| |z|^{p+1} \\ &\leq |z|^p + \sum_{n=1}^{\infty} \Omega_{p,n}^{\lambda} \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,n}^{\lambda} - (p\beta+\alpha) \right]} |z|^{p+n} \\ &\leq |z|^p + \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^{\lambda} - (p\beta+\alpha) \right]} |z|^{p+1}, \end{aligned}$$

and

$$|F(z)| \geq |z|^p - \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^{\lambda} - (p\beta+\alpha) \right]} |z|^{p+1},$$

which proves the inequalities (5.1) and (5.2). Now, Since

$$\begin{aligned} &\left( \frac{p+1-\lambda}{p+1} \right) \frac{\Gamma(p+n+1)\Gamma(p-\lambda+1)}{\Gamma(p+n+1-\lambda)} \left[ (1+\beta) \left( \frac{p+1}{p+1-\lambda} \right) - (p\beta+\alpha) \right] \\ &\leq \left[ (1+\beta) \frac{\Gamma(p+n+1)\Gamma(p-\lambda+1)}{\Gamma(p+n+1-\lambda)} - (p\beta+\alpha)\Gamma(p) \right], \end{aligned}$$

it follows that

$$\begin{aligned} &\sum_{n=1}^{\infty} \left( \frac{p+1-\lambda}{p+1} \right) \frac{\Gamma(p+n+1)\Gamma(p-\lambda+1)}{\Gamma(p+n+1-\lambda)} \left[ (1+\beta) \left( \frac{p+1}{p+1-\lambda} \right) - (p\beta+\alpha) \right] |a_{p+n}| \\ &\leq \sum_{n=1}^{\infty} \left[ (1+\beta) \frac{\Gamma(p+n+1)\Gamma(p-\lambda+1)}{\Gamma(p+n+1-\lambda)} - (p\beta+\alpha)\Gamma(p) \right] |a_{p+n}|, \end{aligned}$$

that is,

$$\sum_{n=1}^{\infty} \phi_{p,n}^{\lambda} |a_{p+n}| \leq \frac{(p+1)(p-\alpha)}{\left[ (p+1)(1+\beta) - (p\beta+\alpha)(p+1-\lambda) \right]}.$$

Let

$$\begin{aligned} G(z) &= \frac{\Gamma(p-\lambda+1)}{\Gamma(p+1)} z^\lambda D_z^\lambda f(z) \\ &= z^p + \sum_{n=1}^{\infty} \frac{\Gamma(p+n+1)\Gamma(p-\lambda+1)}{\Gamma(p+1)\Gamma(p+n-\lambda+1)} a_{p+n} z^{p+n}. \end{aligned}$$

Then

$$\begin{aligned} |G(z)| &\leq \left| z^p + \sum_{n=1}^{\infty} \frac{\phi_{p,n}^\lambda}{p} a_{p+n} z^{p+n} \right| \\ &\leq |z|^p + \sum_{n=1}^{\infty} \frac{\phi_{p,n}^\lambda}{p} |a_{p+n}| |z|^{p+1} \\ &\leq |z|^p + \frac{(p+1)(p-\alpha)}{p[(p+1)(1+\beta) - (p\beta+\alpha)(p+1-\lambda)]} |z|^{p+1}, \end{aligned}$$

and

$$|G(z)| \geq |z|^p - \frac{(p+1)(p-\alpha)}{p[(p+1)(1+\beta) - (p\beta+\alpha)(p+1-\lambda)]} |z|^{p+1}.$$

Further equalities in (5.1) and (5.2) are attained for the function

$$f(z) = z^p + \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha) \right]} e^{i\theta_{p+1}} z^{p+1}, \quad (5.5)$$

and equalities in (5.3) and (5.4) are attained for the function

$$f(z) = z^p + \frac{(p+1)(p-\alpha)}{p[(p+1)(1+\beta) - (p\beta+\alpha)(p+1-\lambda)]} e^{i\theta_{p+1}} z^{p+1}.$$

This completes the proof of Theorem 5.1. □

**Theorem 5.2.** *Let  $f(z)$  defined by (1.1) be in the class  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$ . Then we have*

$$|D_z^{-\lambda} f(z)| \leq \frac{\Gamma(p+1)}{\Gamma(p+\lambda+1)} |z|^{p+\lambda} \left\{ 1 + \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha) \right]} |z| \right\},$$

and

$$|D_z^{-\lambda} f(z)| \geq \frac{\Gamma(p+1)}{\Gamma(p+\lambda+1)} |z|^{p+\lambda} \left\{ 1 - \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha) \right]} |z| \right\},$$

for  $\lambda > 0$  and  $z \in \mathbb{U}$ . Further

$$|D_z^\lambda f(z)| \leq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} |z|^{p-\lambda} \left\{ 1 + \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha) \right]} |z| \right\},$$

and

$$|D_z^\lambda f(z)| \geq \frac{\Gamma(p+1)}{\Gamma(p-\lambda+1)} |z|^{p-\lambda} \left\{ 1 - \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta+\alpha) \right]} |z| \right\},$$

for  $0 \leq \lambda < 1$  and  $z \in \mathbb{U}$ . The result is sharp for the functions  $f(z)$  given by (5.5).

*Proof.* Since

$$0 < \Omega_{p,n}^\lambda < \Omega_{p,n}^{-\lambda} < \frac{p+1}{p-\lambda+1}.$$

and

$$\sum_{n=1}^{\infty} \phi_{p,n}^{-\lambda} \left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right] |a_{p+n}| \leq p(p-\alpha).$$

It follows that

$$\sum_{n=1}^{\infty} \frac{1}{p} \phi_{p,n}^\lambda |a_{p+n}| \leq \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta + \alpha) \right]},$$

and

$$\sum_{n=1}^{\infty} \frac{1}{p} \phi_{p,n}^{-\lambda} |a_{p+n}| \leq \frac{(p-\alpha)}{\left[ (1+\beta)\phi_{p,1}^\lambda - (p\beta + \alpha) \right]}.$$

Thus, we obtain the required result.  $\square$

## 6. Partial sums

Following the earlier works by Silverman [11] and Silvia [14] on partial sums for univalent functions, we consider partial sums of functions in the class  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  and obtain sharp lower bound for real part of the ratio of  $f(z)$  to  $f_m(z)$ .

**Theorem 6.1.** *Let  $f(z) \in \mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  of the form (1.1) and define the partial sums of  $f_p(z)$  and  $f_m(z)$  by*

$$f_p(z) = z^p \text{ and } f_m(z) = z^p + \sum_{n=1}^m a_{p+n} z^{p+n} \quad (m \in \mathbb{N}). \quad (6.1)$$

Also, let

$$\sum_{n=1}^{\infty} c_{p+n} |a_{p+n}| \leq 1,$$

where

$$c_{p+n} = \frac{\left[ (1+\beta)\phi_{p,n}^\lambda - (p\beta + \alpha) \right]}{(p-\alpha)}. \quad (6.2)$$

Then

$$\Re \left\{ \frac{f(z)}{f_m(z)} \right\} \geq 1 - \frac{1}{c_{p+m+1}}, \quad (6.3)$$

and

$$\Re \left\{ \frac{f_m(z)}{f(z)} \right\} \geq \frac{c_{p+m+1}}{1 + c_{p+m+1}}. \quad (6.4)$$

*Proof.* For the coefficients  $c_{p+n+1}$  defined by (6.2), it is easy to verify that

$$c_{p+n+1} > c_{p+n} > 1,$$

and so

$$\sum_{n=1}^m |a_{p+n}| + c_{p+m+1} \sum_{n=m+1}^{\infty} |a_{p+n}| \leq \sum_{n=1}^{\infty} c_{p+n} |a_{p+n}| \leq 1.$$

Let

$$\begin{aligned} g_1(z) &= c_{p+m+1} \left\{ \frac{f(z)}{f_m(z)} - \left( 1 - \frac{1}{c_{p+m+1}} \right) \right\} \\ &= 1 + \frac{c_{p+m+1} \sum_{n=m+1}^{\infty} a_{p+n} z^n}{1 + \sum_{n=1}^m a_{p+n} z^n}, \end{aligned}$$

which is analytic in  $\mathbb{U}$  and  $g_1(0) = 1$ . To prove (6.3), it suffices to prove that  $\Re \{g_1(z)\} \geq 0$ , or equivalently  $|g_1(z) - 1| \leq |g_1(z) + 1|$  since

$$\Re \{w\} \geq \mu \text{ if and only if } |w - 1 - \mu| \leq |w + 1 - \mu|.$$

Thus

$$\left| \frac{g_1(z) - 1}{g_1(z) + 1} \right| \leq \frac{c_{p+m+1} \sum_{n=m+1}^{\infty} |a_{p+n}|}{2 - 2 \sum_{n=1}^m |a_{p+n}| - c_{p+m+1} \sum_{n=m+1}^{\infty} |a_{p+n}|} \leq 1,$$

which readily the assertion (6.3) of Theorem 6.1. To show that

$$f(z) = z^p + \frac{z^{p+m+1}}{c_{p+m+1}}, \quad (6.5)$$

gives sharp result, we note that for  $z = re^{\frac{i\pi}{n}}$ ,

$$\frac{f(z)}{f_m(z)} = 1 + \frac{z^{m+1}}{c_{p+m+1}} \rightarrow 1 - \frac{1}{c_{p+m+1}} \text{ as } z \rightarrow 1^-.$$

Similarily, let

$$\begin{aligned} g_2(z) &= (1 + c_{p+m+1}) \left\{ \frac{f_m(z)}{f(z)} - \frac{c_{p+m+1}}{1 + c_{p+m+1}} \right\} \\ &= 1 - \frac{(1 + c_{p+m+1}) \sum_{n=m+1}^{\infty} a_{p+n} z^n}{1 + \sum_{n=1}^{\infty} a_{p+n} z^n}. \end{aligned} \quad (6.6)$$

Making use of (6.6), we have

$$\left| \frac{g_2(z) - 1}{g_2(z) + 1} \right| \leq \frac{(1 + c_{p+m+1}) \sum_{n=m+1}^{\infty} |a_{p+n}|}{2 - 2 \sum_{n=1}^{\infty} |a_{p+n}| - (c_{p+m+1} - 1) \sum_{n=m+1}^{\infty} |a_{p+n}|} \leq 1,$$

which implies to the assertion (6.4) of Theorem 6.1. The bound in (6.4) is sharp for each  $m \in \mathbb{N}$  with the extremal function  $f(z)$  given by (6.5).  $\square$

We can obtain the following theorem by using similar arguments to those in the proof of the Theorem 6.1.

**Theorem 6.2.** Let  $f(z) \in \mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$  of the form (1.1) and the partial sums of  $f_p(z)$  and  $f_m(z)$  defined by (6.1). Also, let

$$\sum_{n=1}^{\infty} d_{p+n} |a_{p+n}| \leq 1,$$

where

$$d_{p+n} = \frac{\phi_{p,n}^{\lambda} \left[ (1 + \beta) \phi_{p,n}^{\lambda} - (p\beta + \alpha) \right]}{p(p - \alpha)}.$$

Then

$$\Re \left\{ \frac{f(z)}{f_m(z)} \right\} \geq 1 - \frac{1}{d_{p+m+1}},$$

and

$$\Re \left\{ \frac{f(z)}{f_m(z)} \right\} \geq \frac{d_{p+m+1}}{1 + d_{p+m+1}}.$$

**Remark 6.3.** (i) For different choices of  $\lambda, p, \beta$  in the above results, we obtain some analogous results for Aouf et al. [4], Owa [9], Silverman [11] and Silverman [12];

(ii) For  $p = 1$  in the above results, we will obtain new results for the classes  $\mathcal{VM}(\lambda, \alpha, \beta)$  and  $\mathcal{VN}(\lambda, \alpha, \beta)$  mentioned in the introduction.

### Conclusion

In our present investigation, we have introduced and studied the classes  $\mathcal{VM}_{p,\eta}(\lambda, \alpha, \beta)$  and  $\mathcal{VN}_{p,\eta}(\lambda, \alpha, \beta)$  of multivalent functions with varying arguments of coefficients. We have successfully obtained coefficients inequalities, distortion theorems and extreme points for functions in these classes. Also, we have investigated several distortion inequalities involving fractional calculus. Finally, results on partial sums have been considered.

### Acknowledgments

The authors are grateful to the reviewers of this article for their valuable suggestions and comments, which enhanced the paper. Further, the third author would like to thank ITAM for the kind hospitality during her stay in Mexico.

### References

1. H. A. Al-Kharsani, Multiplier transformations and  $k$ -uniformly  $p$ -valent starlike functions, *General Math.* 17 (2009), no. 1, 13–22.
2. M. K. Aouf, On fractional derivatives and fractional integrals of certain subclasses of starlike and convex functions, *Math. Japon.* 35 (1990), no. 5, 831–837.
3. M. K. Aouf and J. Dziok, Distortion and convolutional theorems for operators of generalized fractional calculus involving Wright function, *J. Appl. Anal.* 14(2008), no. 2, 183–192.
4. M. K. Aouf, R. M. El-Ashwah, A. A. M. Hassan and A. H. Hassan, Multivalent functions with varying arguments, *Int. J. Open Problems Complex Analysis* 5(2013), no. 1, 9–17.
5. M. K. Aouf, A. O. Mostafa and H. M. Zayed, Some characterizations of integral operators associated with certain classes of  $p$ -valent functions defined by the Srivastava-Saigo-Owa fractional differintegral operator, *Complex Anal. Oper. Theory* 10(2016), no. 6, 1267–1275.
6. M. K. Aouf, A. O. Mostafa and H. M. Zayed, On certain subclasses of multivalent functions defined by a generalized fractional differintegral operator, *Afr. Mat.* 28(2017), no. 1-2, 99–107.
7. A. O. Mostafa, M. K. Aouf, H. M. Zayed and T. Bulboacă, Multivalent functions associated with Srivastava-Saigo-Owa fractional differintegral operator, *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Math.* 112(2018), 1409–1429.
8. S. Owa, On the distortion theorems. I, *Kyungpook Math. J.* 18 (1978), 53–59.
9. S. Owa, On certain classes of univalent functions with varying arguments, *Simon Stevin* 59 (1985), no. 3, 331–347.
10. S. Owa, On certain classes of  $p$ -valent functions with negative coefficients, *Simon Stevin* 59 (1985), no. 3, 385–402.
11. H. Silverman, Partial sums of starlike and convex functions, *J. Math. Anal. Appl.* 209 (1997), 221–227.

12. H. Silverman, Univalent functions with varying arguments, *Houston J. Math.* 7 (1981), no. 2, 283–287.
13. H. Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.* 51 (1975), 109–116.
14. E. M. Silvia, On partial sums of convex functions of order  $\alpha$ , *Houston J. Math.* 11 (1985), no. 3, 397–404.
15. H. M. Srivastava and M. K. Aouf, A certain fractional derivative operator and its applications to a new class of analytic and multivalent functions with negative coefficients. I and II, *J. Math. Anal. Appl.* 171 (1992), 1–13; *ibid.* 192 (1995), 973–688.
16. H. M. Srivastava and M. K. Aouf, Some applications of fractional calculus operators to certain subclasses of prestarlike functions with negative coefficients, *Computers Math. Appl.* 30 (1995), no. 1, 53–61.
17. H. M. Srivastava and S. Owa, An application of the fractional derivative, *Math. Japon.* 29 (1984), 383–389.
18. H. M. Srivastava and S. Owa (Editors), *Univalent Functions, Fractional Calculus, and Their Applications*, Halsted press (Ellis Horwood Limited Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1989.

*Shigeyoshi Owa,*  
*Honorary Professor,*  
*“1 Decembrie 1918” University of Alba Iulia,*  
*Alba Iulia, Romania.*  
*E-mail address: shige21@ican.zaq.ne.jp*

*and*

*Mohamed K. Aouf,*  
*Department of Mathematics,*  
*Faculty of Science,*  
*Mansoura University,*  
*Mansoura 35516, Egypt.*  
*E-mail address: mkaouf127@yahoo.com*

*and*

*Hanaa M. Zayed,*  
*Department of Mathematics, ITAM, Río Hondo #1,*  
*Col. Progreso Tizapán, 01080,*  
*Mexico City, Mexico,*

*Department of Mathematics,*  
*Faculty of Science,*  
*Menofia University,*  
*Shebin Elkom 32511, Egypt.*  
*E-mail address: hanaa\_zayed42@yahoo.com*